


Worksheet 7.1: Policy Solutions





Work, Poverty and Welfare 





The column on the left below identifies some of the main definitions and explanations for poverty discussed in Chapter 7. Write a sentence explaining what each of these is. In the column on the right, identify and explain the policy solution that might be adopted to solve the issues on the left. The first example is done for you.





Definition/explanation of poverty�
Policy solution�
�
Absolute Poverty – lacking minimum resources needed to maintain health�
Provide at least the minimum resources to all�
�
Relative poverty - living below the average standard of living in any society�
Redistribute income from rich to the poor. Raise the minimum wage�
�
Blaming the individual – poverty due to laziness or incapacity of the poor themselves�
Lower benefits to encourage people to get a job,  perhaps re�education�
�
Blaming the generosity of the welfare state - poverty arising because of the generosity of the welfare state creating a dependency culture�
Cut over-generous benefits, targeting them only on those who are really unable to work due to sickness or disability. Force those who are able into work�
�
Blaming the culture of the poor - culture passed on from one generation to the next, preventing those exposed to it from taking opportunities to escape from poverty�
Educate people with different beliefs so they can break away from the values and way of life of poor parents and communities. Give the poor better paid jobs and benefits then any apparent culture of poverty will also disappear�
�
Cycle of deprivation - circumstances that the poor are trapped in regardless of attitudes or ability, with little chance to escape poverty�
Break the cycle e.g. extra education, better housing, better pay, more community facilities, better health care and more job opportunities, etc.


�
�
Inadequacy of welfare state - welfare benefits too low to eradicate poverty�
Higher welfare benefits/redistribute income�
�
Unequal structure of power and wealth in capitalist society – structure of social inequality of capitalist society creates poverty�
Don't let the rich exploit the poor by paying them low wages. Redistribute wealth, income and power, higher wages, etc.�
�









